



Math worksheet on 'Linear Equation Systems - Simple Equation Substitution (Level 2)'. Part of a broader unit on 'Algebra Systems of Equations - Intro'

Learn online: [app.mobius.academy/math/units/algebra\\_systems\\_of\\_equations\\_intro/](http://app.mobius.academy/math/units/algebra_systems_of_equations_intro/)

|   |          |          |          |
|---|----------|----------|----------|
| <p><b>2</b> Solve for the variable by substituting the second equation into the first</p> $11n + 2z = 119$ $z = 11n + 10$ $n = ?$ | <b>a</b> | <b>b</b> | <b>c</b> |
|   | $n = 22$ | $n = 6$  | $n = 1$  |
|   | <b>d</b> | <b>e</b> | <b>f</b> |
|   | $n = 2$  | $n = 20$ | $n = 3$  |

|   |          |          |          |
|---|----------|----------|----------|
| <p><b>1</b> Solve for the variable by substituting the second equation into the first</p> $6b + 4y = 40$ $y = 6b - 5$ $b = ?$ | <b>a</b> | <b>b</b> | <b>c</b> |
|   | $b = 0$  | $b = 5$  | $b = 20$ |
|   | <b>d</b> | <b>e</b> | <b>f</b> |
|   | $b = 24$ | $b = 1$  | $b = 2$  |

|   |          |          |          |
|---|----------|----------|----------|
| <p><b>3</b> Solve for the variable by substituting the second equation into the first</p> $5y + 8m = 52$ $m = 3y - 8$ $y = ?$ | <b>a</b> | <b>b</b> | <b>c</b> |
|   | $y = 64$ | $y = 7$  | $y = 3$  |
|   | <b>d</b> | <b>e</b> | <b>f</b> |
|   | $y = 24$ | $y = 2$  | $y = 4$  |

|   |          |          |          |
|---|----------|----------|----------|
| <p><b>4</b> Solve for the variable by substituting the second equation into the first</p> $4n + 4c = 64$ $c = 5n + 4$ $n = ?$ | <b>a</b> | <b>b</b> | <b>c</b> |
|   | $n = 2$  | $n = 1$  | $n = 20$ |
|   | <b>d</b> | <b>e</b> | <b>f</b> |
|   | $n = 16$ | $n = 0$  | $n = 5$  |

|  |          |          |          |
|--|----------|----------|----------|
| <p><b>5</b> Solve for the variable by substituting the second equation into the first</p> $6d + 5m = 62$ $m = 2d - 10$ $d = ?$ | <b>a</b> | <b>b</b> | <b>c</b> |
|  | $d = 50$ | $d = 6$  | $d = 5$  |
|  | <b>d</b> | <b>e</b> | <b>f</b> |
|  | $d = 10$ | $d = 10$ | $d = 7$  |

|   |          |          |          |
|---|----------|----------|----------|
| <p><b>6</b> Solve for the variable by substituting the second equation into the first</p> $4m + 3b = 5$ $b = 5m - 11$ $m = ?$ | <b>a</b> | <b>b</b> | <b>c</b> |
|   | $m = 33$ | $m = 1$  | $m = 15$ |
|   | <b>d</b> | <b>e</b> | <b>f</b> |
|   | $m = 0$  | $m = 2$  | $m = 5$  |

|   |          |          |          |
|---|----------|----------|----------|
| <p><b>7</b> Solve for the variable by substituting the second equation into the first</p> $2y + 6d = 70$ $d = 3y - 5$ $y = ?$ | <b>a</b> | <b>b</b> | <b>c</b> |
|   | $y = 8$  | $y = 4$  | $y = 30$ |
|   | <b>d</b> | <b>e</b> | <b>f</b> |
|   | $y = 3$  | $y = 18$ | $y = 5$  |